H & 0l & AHS B Ml A

mr

Hz

oF

od
i’
oF
uJ

-

KIO

Hlw

14,015,384

14,015,384

3,998,385

1,440
1,440
1,440

A\335,460

MEE
Ofl &k2h

33,048,031

32,921,941

7,769,909

66,738
50,560
28,560
22,000
9,675
9,675

6,503
6,503

542,900

Ofl &F2H

6,200
3,800,000

19,815,847

5,770,000
17,671,368
46,937,325

47,063,415

Il
CH

19,815,847

5,770,000

18]

6,200

3,800,000
11,768,294

17,545,278

Jl
CH

fir

947,358

4,925,000

I8

800,000

5,095,936

CH

H

68,178
52,000
30,000
30,000
22,000
22,000
9,675
9,675
4,275

1,350
1,350
1,350
1,350
6,503
6,503
6,503

207,440

- HyS

- SRA(E) - HIRAY

S - B

fir
oll_c
K
Jo
oFJ
<H

ol
Ho

0
Of

oJ
oD

Il
Kl

ok

01 AtR2telbl

KJ
KF
ok
ol

]

=
)

]

F

405 Xt

11
oH
KJ
oK
0}

Al
ol

W
K

Ho

2510
2510
A 15,300
15,300

A319,650
A319,650

2,550
2,550
402,650
137,700
137,700

402,650

2,040
2,040
2,040
83,000
83,000
83,000
122,400
122,400

ol
A=01d

JIKt

dl
dl
%

+
+
+

01 Xt

307 212t01&

308 At
403 Xt




od
i’
oF
uJ

B33 et R el S S S & & & S S S
©l© o ~ ~ ~ N~ ~ N~ S S S
- 0| w0 |wv — — — © © ©
o % q < = = = g g g
KIo < < <
E
E=]
R B3 S ¥ |5 8| & ] ] S 3 ] 3 8 3 8
D% D |o|o Sl|le | ~ ~ © D 0 S S S
[o ol ISl @] Yo} [aP X Nap] N~ N~ [ Al Al [eN]
e &3 R e P Pe) o m m m
uild - - -
RIS
B RINEEE 8 8 SIBI8B IIFNY [N 88888838 88dRIIEBRIEEYEBRISEE SIS S 8|8
© X|DID|S S| Be|e BIS|S o8 S S8 S gle g S gold — old — o|d g8 S S| S 9|8
B B|S|R(E €@ w0 2 2o @ ole ool ssSgeggeRessdgsglgs sl
al
<
=
oW U LEUTN T I T TN <R I T
or = £
n |2 i iy
A K — I
i Ii ul =
..w ™R oo = K K .
“= o0 g KJ = %‘_ :._o — c._o — _:_._
= |5 ® A = = |4 OF) ul oF) U
< |5« i = ol = | x Al & =
S i Ok i o | L w H B Ki
= |- W ok al = | LR ) R o ar B
& |2 20 =< KO |4 il il <t ~ _
o |1 =0 50 o 80 | | oI~ = &) iy D
oF U | = 1o |z [z 0o | » ol o o %0 db _,_|._ i)
5 |z Es|s - i Ao R0 (RO < KO ulo R =< k< I+
> |a w0 m|m M om0 M Hixz| =z W)@ 5 o ) = = W K ok
= H = __Hou*.ﬁ_v o [ RO 0 Wz W|a o |z T K | ol o K Ho o o
L 1 R T Lo N T o S 5 = = = Gl ol & ]
R W%AE%A%EEO%MM%IX%_S_Q ) ::% 00 R Iioo <M =< <
° Sl=1= U — 0 | — d N — zJ 0 — ~ — —
% 5|82 8 TIRIE B |k R = Pt 2 = 3 S =
I+ Ho H Ho Ho




SN sz SEXAR
M =o)|2P3 U MRSl 84
ool SEXE JIs2s U solss (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsENEI|xd 800,000
= 400,000
== 400,000
s sEXT JIBXE(AZAHE) 4,525,000 2,874,000 1,661,000
[ 4,525,000
403 AXIEHMSAH=01& 4,525,000 2,874,000 1,651,000
= 4,525,000
01 XA =2 E 4,525,000 2,874,000 1,651,000
OsEXNDIIEEE (A2 HE-TS) 4,525,000
[ 4,525,000
SEXTIIBES ZHIXIR (AZ) (HEALY) 1,200,000 1,200,000
403 AXIEMSA=201E 1,200,000 1,200,000
01 MHXIHHA 22X 1,200,000 1,200,000
OsENTolgtxd X 1,200,000
NeSRe d2szgd Nd(R) 99,800 53,400 46,400
= 49,900
=S 49,900
201 er23 | 22,000 24,600 22,600
= 11,000
< 11,000
01 At2teltl 22,000 24,600 2,600
OXNESFE SN WF 22,000
= 11,000
S 11,000
202 04| 77,800 28,800 49,000
= 38,900
= 38,900
01 =LHO LI 67,000 18,000 49,000
OXNESFE 9gie us0t| 63,000
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Od=2sENY 25 N2 4,000
= 2,000
S 2,000
03 =20 10,800 10,800 0
OsZEXNCZ2E dHAH=(XgAESUH) 10,800
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NESRY M2SHSAXH (A2 186,762 161,500 5,262
= 104,508
& 52,254
308 AtXIEMSOIE 186,762 151,500 5,262
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N sY9IIes¥ sEXJZ
ZE: SeD|sE3 U MRSl S4
o9l WBY DEX OF SENE MD|E 23 (crol: m2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
AR XD NEE Mit AH 22 A5 A 900,000 0 900,000
= 900,000
403 XIS MS 201 900,000 0 900,000
= 900,000
01 XIXISH A= E X 900,000 0 900,000
O#IIZ X TUHEE datad 22 1= 900,000
= 900,000
2oz 4 NA(R) 18,000 20,000 A2,000
= 9,000
= 9,000
201 Lt | 18,000 20,000 A2,000
= 9,000
& 9,000
01 At 22|l 18,000 20,000 A2,000
OEsIHZAs)24 35t 18,000
= 9,000
& 9,000
dars S 157,500 196,000 238,500
= 157,500
308 AXIHMSO0I & 157,500 196,000 A38,500
= 157,500
01 XN ExS 157,500 196,000 38,500
OdE=sIHLALs) 2435t 157,500
= 157,500
dihs Al Y HIKIRA(E) 10,000 32,000 222,000
= 5,000
= 5,000
201 L2 | 10,000 32,000 A22,000
= 5,000
= 5,000
03 AL2 G| 10,000 16,000 26,000
OZL=s L dAFE 10,000
= 5,000
& 5,000
das Argdze] 2 EBIHKIA(A2E4) 51,100 70,000 A 18,900
= 51,100
308 AXIHMSO0I & 51,100 70,000 A 18,900
= 51,100
01 AXIEHELAExS 51,100 70,000 A 18,900
OZas Atgzte] & O 51,100
= 51,100
MaitHS JI=X& 613,150 607,400 5,750




2 s8Isd sEXER
M =o)|2P3 U MesYol 84
ool FEY DBN OF SHMES MADIE 23 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 5,950 5,950
01 At2teltl 5,950 5,950
OMais JI=X& 5,950
308 AXIHS0IA 360,700 349,000 1,700
01 HRHHBSEELS 350,700 349,000 1,700
Os%E dolils =2 JlsAlE 80,700
Os&= dolls =& YHdl Xa 201,000
Otdsit=4at PLS A 69,000
403 X SHHMSAH=01H 256,500 252,450 4,050
01 AXISHHA =2 £ 256,500 252,450 4,050
OMNaUS Jl=Ald 256,500
U= HolEs etd EM K 54,000 0 54,000
308 AXIHSOIA 54,000 0 54,000
01 HASHHBSEEXS 54,000 0 54,000
Ol Golis &etd XA SA 54,000
=3t HEsSIH HHES JI=sXd 180,000 0 180,000
308 AFAIEHMSOIH 180,000 0 180,000
01 AXEHB 2 LS 180,000 0 180,000
Olt==3tats HE =0t A= JIEX2 180,000
EASE JIEERE4 JIBHEU(AIZ) 200,000 0 200,000
= 200,000
403 AXIEHHSAH=201H 200,000 0 200,000
= 200,000
01 AXISHHA 22 % 200,000 0 200,000
OBASE HE2RE4 I 200,000
= 200,000
IIEER 255 53 NA(AD?) 243,300 243,300 0
= 243,300
308 XXM SOIH 243,300 243,300 0
= 243,300
01 HAHHBSEEXS 243,300 243,300 0
Ol=2a Bk 53 243,300
= 243,300
sled SYEHY 28 NA(F) 33,200 48,000 14,800
= 16,600
< 16,600
201 er=23y| 10,200 15,000 24,800
= 5,100
= 5,100
01 AtR2t2|HI 10,200 15,000 24,800
Oltstdss &I I=Xd Lit2dh] 10,200
= 5,100




2 s8Isd sEXER
I slsEs % dEsYY |4
Crel: ZB DEX OF SEME MAIIE ©3 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,100
202 04| 16,000 18,000 /2,000
= 8,000
= 8,000
01 =LHO LI 16,000 18,000 22,000
OltstdssdlIsXNE =N 16,000
= 8,000
=S 8,000
206 M=l 4,000 15,000 A11,000
= 2,000
< 2,000
01 M=4l 4,000 15,000 211,000
OustdssdII=Xd Mt 4,000
= 2,000
= 2,000
301 LEIEE S 3,000 0 3,000
= 1,500
s 1,500
11 dALEEIXIZE S 3,000 0 3,000
Olstdssi &) I=Ad HARHINES 3,000
= 1,500
[ 1,500
sl sS4y 28 I (A2) 293,500 293,500 0
= 293,500
308 XXM SOIA 293,500 293,500 0
= 293,500
01 AXEH B EES 293,500 293,500 0
Olt+std =)= ESEHIXA 18,000
= 18,000
OxMHdd 289 9,000
= 9,000
Oosgddd 29 216,500
= 216,500
OzlatZsatac|dd 29 50,000
= 50,000
st oHEAd 2(A2) 1,000,000 1,250,000 250,000
= 1,000,000
403 AXIEHHSAH=201H 1,000,000 1,250,000 250,000
= 1,000,000
01 AXISHHA 22 % 1,000,000 1,250,000 250,000
Ostt= HMEAY A= 1,000,000
= 1,000,000
SAE Hols gl XA(A2) 1,366,000 1,428,000 262,000
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2 s8Isd sEXER
ZE: SeD|sE3 U MRSl S4
o9l WBY DEX OF SENE MD|E 23 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,366,000
308 AXIHSOIA 1,366,000 1,428,000 262,000
= 1,366,000
01 XN BELES 1,366,000 1,428,000 262,000
Os&= Holls gadl A2 1,366,000
= 1,366,000
siE gois dda 2aX3(5) 16,000 16,000 0
= 8,000
s 8,000
201 er23| 16,000 16,000 0
= 8,000
< 8,000
01 AtR2t2|HI 8,550 8,000 550
Odgais 0 & 2HIZX ME 2SN 2 8,550
= 4,275
= 4,275
2 Ss52g4l 3,000 3,000 0
Ogils LAUZEN &5 3,000
= 1,500
= 1,500
03 A= I 4,450 5,000 A550
Ogalis tZ & st BAIZY 4,450
= 2,225
== 2,225
SEE Hois dda 2SXE(AZ) 146,000 146,000 0
= 146,000
308 AHXIEMSOIH 146,000 146,000 0
= 146,000
01 AXENB 2 LS 146,000 146,000 0
Oddis o2z, s 2g 146,000
= 146,000
sSASYE 2FE 2N (M) 37,050 37,050 0
= 37,050
308 AXIMSO0IA 37,050 37,050 0
= 37,050
01 AXEN B2 LS 37,050 37,050 0
Oddlis 2% 2 XN 37,050
= 37,050
It2e| Hols LM 2S (&) 47,000 94,000 47,000
= 23,500
S 23,500
101 @124H| 40,000 44,000 24,000




2 s8Isd sEXER
ZE: SeD|sE3 U MRSl S4
o9l WBY DEX OF SENE MD|E 23 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 20,000
=S 20,000
M ORIMZZ2NSE S 40,000 44,000 24,000
O=Jt&c|gaiE M 2 22| 40,000
= 20,000
< 20,000
201 Zet=3h] 6,000 41,600 /35,600
= 3,000
= 3,000
01 AtR2tc|Hl 6,000 29,600 /23,600
O=712c|dais M 82 & u=s 29 6,000
= 3,000
= 3,000
206 M=l 1,000 8,400 AT,400
= 500
S 500
01 MZH| 1,000 8,400 AT,400
O=Jt2e|dallE NZUM M=o 1,000
= 500
= 500
=ot2elgois sELNE 22 (A2) 376,000 399,500 A23,500
= 376,000
308 AXIHS0IA 376,000 399,500 A23,500
= 376,000
01 AXHNBEES 376,000 399,500 A23,500
O=Jt&c|galiE M= 2 376,000
= 376,000
USHAE WISAAYE 2S(AZ) 40,000 80,000 240,000
= 40,000
403 MR EHSAHE01H 40,000 80,000 40,000
= 40,000
01 XM= 2L 40,000 80,000 40,000
Odt==3tatd HSAILE 5 40,000
= 40,000
DstaE SHUN EA4243(5E) 1,250,000 1,000,000 250,000
= 1,000,000
s 250,000
301 EtE NS 1,250,000 1,000,000 250,000
= 1,000,000
< 250,000
14 DBt 2 a3 1,250,000 1,000,000 250,000
Olt=3tatd HasIt 424 1,250,000
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= 71,400
SAIQ sESX KE 1,497,875 1,497,875 0
= 1,302,500
s 195,375
308 AHXIEMSOIE 1,497,875 1,497,875 0
= 1,302,500
[ 195,375
01 HXHHBAEES 1,497,875 1,497,875 0
OAsHE FXAE A 1,497,875
= 1,302,500
= 195,375
HY2HAH(sYII=d sEXR) 126,090 126,090 0
Jl2dtl(sYlIsd sEXE2) 126,090 126,090 0
Jl2dtl(s8lI12d sEXE2) 126,090 126,090 0
201 Let=23 | 55,080 55,080 0
01 At22te|Hl 55,080 55,080 0
sENIY R 55,080
202 04| 55,080 55,080 0
01 2K 55,080 55,080 0
OsEXNAERF 55,080
203 gF=4| 15,930 15,930
01 D22 HARFA| 5,940 5,940
OszEXaE=& 5,940
04 A2 LRFAI 9,990 9,990 0
OJl=81 2,700
OJl=E2s1 1,890
OsEXA 1L 2,700




M s@l|=d sEN3=

. HYR2IAH(sLI 2 sE=XEAR)

o9l JI=2AH(SYIIzR SEXAR) CCRL
(=] XNZH . Cl2l(S = HAHAS }OH @EE =S
A - ZE - SA(FAH) - AIRAY - BES Oi &F2H HwEZ

ol &y

2,700




